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STANDARD 6TH: CHAPTER 12 

Percentage 

 

Q.1 Shubha scored 736 marks out of 800 in her exam. What’s her % scoring?  

 

Q.2   There are 500 students in School. If 350 of them can swim. What % can’t  

         swim?  

 

Q.3 If Pramod sowed wheat on 75% of 19,500 sq.m. of his land. On how many 

       sq.m, did he sow? 

 

Q.4 Anil received 40 messages on his birthday. Of these 90% were birth day 

       greetings. How many were ‘other’ messages?  

 

Q.5 Out of 5,675 People in Village, 5,448 are literate what’s % of literacy?  

 

Q.6 In election, 1080 out of 1200 Men in City A Cast then votes & 1360 out of 1700  

      Men. In City B Cast then votes. In which City % voting is more?  

 

Q.7 20 clocks are sold for 56,250 Rs. Profit is 6,250 Rs. Find % P  

 

Q.8 For AGM of society out of 2240 members 35% are Women then find out actual  

        number of men.  

 

Q.9 There are 2100 trees of different types in an orchard. Out of these 25% are  

       Mango trees, 20% are Coconut trees, 40% are Jackfruit trees & remaining  

       are betel nut. How many betel nut trees are there?  

 

Q.10 Omkar scored 510 marks in an exam. This was 68% overall. For how many 

     marks exam. Was there?  
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Q.11 How much is 50% of 50?  

           a) 50   b) 100 c) 25  d) 75    

 

Q.12 234 is 𝑥% of 900, 𝑥 =?  

         a) 23      b) 24  c) 34  d) 26         

 

Q. 13 Find 24% of 175  

         a) 24  b) 42  c) 28  d) 48        

 

Q.14 Which of following is false?  

     a) 20% of 100 = 20             c) 5% of 400 = 20      

     b) 10% of 200 = 20             d) 10% of 300 = 20  

 

Q.15 How much is 60% of150 less than 30% of 400?  

   a) 15         b) 30        c) 120          d) 90   

 

Q.16   Which of following is true?   

      a) 5% of 20 = 1                    c) 20% of 500   = 20     

      b) 10% of 40 = 2                  d) 15% of 60 = 90   

 

Q.17 What % is 0.067?  

     a) 0.067%                      c) 6.7%                                                    

     b) 0.67 %   d) 67% 

 

Q.18 How many % is 500gm of 2 kg?  

    a) 50%  c) 20%    

     

    b) 25%                 d) 10%      
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Q.19 Shubha gives 15% i.e. 30 Chocolates to Anil So how many  

         Chocolates she has? 

a)  60             b) 150  c) 200  d)90  

 

   

Q.20                                          Find % of shaded portion in given fig.  

                                                 a) 2%     b) 25%     c) 8%     d) 75%      
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